Mr. Skerrett  SCH4C       

 Stoichiometry and Percent Yield Worksheet
1.  What weight of silver sulfide can be made from 1.23 mg of hydrogen sulfide?  

Ag   +   H2S   +   O2  ------->    Ag2S   +   H2O

 2.  How many kg of HCl react with 5.69 kg of manganese dioxide?

HCl   +   MnO2 ------->    H2O    +    MnCl2    +   Cl2
 3.  A) How many grams of NaOH is produced from 1.20 x 102 grams of Na2O?

Na2O + H2O --->  NaOH

         B) How many grams of Na2O are required to produce 1.60 x 102 grams of NaOH?

Na2O + H2O --->  NaOH

4.  What mass of iron is needed to react with 16.0 grams of sulfur? 

 Fe + S8 --->  FeS

5.                                                      LiOH + KCl ( LiCl + KOH

     A)  I began this reaction with 20 grams of lithium hydroxide.  What is my theoretical yield of lithium chloride?

     B)  I actually produced 6 grams of lithium chloride.  What is my percent yield?

6.                                                     C3H8 + 5 O2 ( 3 CO2 + 4 H2O


    A)  If I start with 5 grams of C3H8, what is my theoretical yield of water?

B) I got a percent yield of 75%  How many grams of water did I make?

	ANSWERS:

1.  0.00897 g


5. A)   35.5 grams
2.  9.56 kg


    B)   16.9%
3. A)  155 g


6. A)  8.2 grams
    B)  124 g


    B)  6.1 grams
4.  27.9 g


